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BEAE =T DR EANRE ES

(mm) yid a 13 (kg/cni)
0.5 3.5 3.5 3.50 29.59
1.0 9.5 8.0 8.75 73.99
1.5 14.0 13.0 13.50 114.16
20 190 | 19.0 | 19.00 160.68
2.5 23.0 23.0 23.00 194.51
3.0 270 | 270 | 27.00 228.33
5.0 42.0 420 42.00 355.19
1.5 57.5 57.5 57.50 486.27
10.0 715 72.0 71.75 606.78
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CBR=2.5mm(E A5&E) +-1370 X 100(%)= 14.19
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1.HBRER
BRIEmm | aBF+t(e) b.&(e) c.t() ERED RIEE®)
40.0 555.0 555.0 0 0 100.00
375 542.7 542.7 0.0 0.00 100.00
31.5 528.2 528.2 0.0 0.00 100.00
19.0 545.4 545.4 0.0 0.00 100.00
13.2 574.4 574.4 0.0 0.00 100.00
9.5 660.5 543.8 116.7 8.57 91.43
6.7 579.1 479.5 99.6 7.31 84.12
4.75 678.9 529.4 149.5 10.98 73.14
2.36 1201.7 491.2 7105 52.17 20.97
1.180 718.0 465.4 252.6 18.55 2.42
0.425 382.1 351.7 30.4 2.23 0.19
0.075 313.3 310.7 2.6 0.19 0
0.0 348.2 348.2 0.0 0 0
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